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2. (20 pts.) A thin rod of length L lies along the x axis with its left end at the origin and
has a nonuniform charge density λ = βx2, where β is a positive constant.

a. (5 pts.) The total charge on the rod is Q. What is β?

b. (15 pts.) Calculate the electric field at the origin.
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2. (20 pts.) A rod of length L lies along the x axis with its left end at the origin and has 

"' a nonuniform charge density A = ~x2 , where ~ is a positive constant. 

a. (5 pts.) The total charge on the rod is Q. What is~? 

b. (15 pts.) Calculate the electric field at the origin. , 1 v-j ~ t'){ • 
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